
Genuine Accessories

Installation Instructions

Part number KIA Motors

2,0; 2,0D/2,0 AT FullWD

R40103W200 

R40103W200 



Part number:

R40103W200

Sportage SL

2010-/2014-

Part number KIA Motors
R40103W200 

Page
01



Part number:

Part number KIA Motors Page
02R40103W200 

R40103W200

2x  M8x20

2x  M8x50

6x

2x  SD20003

8



Part number:

Part number KIA Motors Page
03R40103W200 

R40103W200

2x  M8x20



Part number:

Part number KIA Motors Page
04R40103W200 

R40103W200

2x  M8x50

24 Nm


